(3000) 1 (3300) 1 (3320) :(3321) :(110) [ 1
3000
31,036,729 [ 5,384,986 6,890,743 0 18,761,000]
3300
31,036,729 [ 5,384,986 6,890,743 0 18,761,000]
3320
31,036,729 [ 5,384,986 6,890,743 0 18,761,000]
3321
31,036,729 [ 5,384,986 6,890,743 0 18,761,000]
100
112,743
110
39,583
101
39,583
39,583 | 08

1,409,700 x1 x12

16,917,000 x3%

17,425,000 x1/6

17,425,000 x1.8/12

30,000 x1 x12

39,583

= 16,917

508
5,519
2,905
2,614

840

360




(3000)

1 (3300)

1 (3320)

:(3321) :(110)

1L

20,000 x2 x12 = 480
130,000 x1 x12 = 1,560
120,000 x1 x12 = 1,440
120,000 x1 x12 = 1,440
17,425,000 x1.5/12 = 2,179
17,425,000 x1/12x250% = 3,631
17,425,000 x1/12x1/24x20 = 1,211
105,000 x1 x12 = 1,260
50,000 x1 x12 = 600
5,506 x3 x150 = 2,478
120
73,160
201
63,160
63,160 | 01
= 13,160
= 25,000
= 25,000
202
10,000




(3000) 1 (3300) 1 (3320) :(3321) - (120) 1L
10,000 | 01
= 10,000
200
30,923,986 [ 5,384,986 6,778,000 18,761,000]
210
28,843,986 [ 5,384,986 4,698,000 18,761,000]
401
3,052,000
3,041,013 | 01
= 1,494,600
0 594,600 900,000]
= 1,546,413
0 615,413 931,000]
10,987 | 03
= 5,400
= 5,587
403
25,791,986
25,791,986 01
= 16,633,000




(3000) 1 (3300) 1 (3320) :(3321) :(210) [ 1
[ 0 2,772,000 0 13,861,000]
= 3,774,000
[ 0 705,000 0 3,069,000]
= 5,384,986
[ 5,384,986 0 0 0]
220
2,080,000
207
30,000
30,000 | 01
= 30,000
401
2,050,000
2,050,000 | 01
= 2,000,000
= 50,000
31,036,729




